= P

Printed in Japan

284-4241-00

suzuki|@Clarion

AUDIO SYSTEM

OPTIONAL PARTS INSTALLATION GUIDE

40 CHANNEL MOTORCYCLE CB TRANSCEIVER

Notice to Dealer:

before starting the procedure.

to its Operator’s Manual.

This guide provides you with necessary information to install SUZUKI/Clarion Audio
System optional parts on the motorcycle, and should be read carefully and understood

For information on the Audio System operating procedures and maintenance, please refer

PARTS DIAGRAM

38800-24A00
JC-2128

f:;be Sem Screws

CB Control Unit
(CB Controller)

Mounting Bracket

~ CB Transceiver Unit ! %
/ Antenns Element

2—Fiat Washer
E——
2—Spring Washer ———/“"@

/v@
2—Hex Nut

39260-24A00
PAS-205

Antenna Feeder

Antenna Feeder

! Cable Holder




L]

m . i ’

TOOLS REQUIRED

e #2 Phillips screwdriver
e 10mm and 13 mm box wrench

NOTES ON INSTALLATION

Turn the ignition switch off before starting.
Follow the order indicated in the “INSTALLATION" section.
Make sure the color of connectors and couplers matches before connecting them.

Place cords so that they do not get pinched or pressed against anything.
Fasten bolts and nuts securely.

INSTALLATION

1. {1) Remove the Machine Screws and the Trim Plate, as shown in Fig. 1.

\ Trim Plate
G
é \
Machine Screw (M3 x 12)
Fig. 1




2. {1) Remove the screws and the Front Cover, as shown in Fig. 2.

Front Cover Right Side

Machine Screw f

(M6 x 20, pan-head) é ! .I
| |

2 —Machine Screw (M5 x 16)

Front Cover Left Side

Machine Screw
(M6 x 20, pan-head)

Front Cover Center

2-Machine Screw (M6 x 20, truss head)

3. (1) Remove the left and right Side Box Lids.
{2) Remove the screws as shown in Fig. 3.
(3) Remove the Left Side Box.
Left Side Box Lid

4—Machine Screw

Right Side Box Lid
(M4 x 16, truss head)

Right Side Box

Left Side Box




4. (1) Remove the Machine Screw and then the Left Side Cover, as shown in Fig. 4 (pull first towards
you, and then push down).
(2) Remove the Right Side Cover in the same way.

Upper Cover Assembly

Seat

Left Side Cover
Left Side Cover Fitting

d./,/— Machine Screw (M6 x 10, pan-head)

Fig. 4

5. (1) Remove the right and left Side Trunk Lids, the Hexagon Bolts and finally the Seat, as shown in
Fig. 5.
{2} Disconnect the tube located under the seat.

Right Side Trunk Lid

Left Side Trunk Lid

/ Left Side Trunk
2—Hexagon Bolt (M8 x 25)

Fig. 5




6. {1) Remove the bolts and screws and then the Upper Cover Assembly, as shown in Fig. 6.
?/Machine Screw (M6 x 20, pan-head)
Flat Washer
Upper Cover Assembly

Special Washer

—/é Machine Screw (M6 x 16, truss head)
2—Hexagon Bolt (M6 x 25)

Fig. 6

7. (1) Pull the sealing rubber out.
(2) Remove the screws and the left and right Cover Assembly Frames, as shown in Fig. 7.

Cover Assembly Right Frame

Machine Screw

?/‘ {M5 x 16, pan-head)

Cover Assembly
Left Frame

Sealing Rubber

Machine Screw (M5 x 16, pan-head)




8. {1} Remove the screws and the Lower Left Cover Assembly, as shown in Fig. 8.

Flat Washer (2 pieces)

2—Machine Screw
(M4 x 16, truss head)

Lower Left Cover Assembly

. / Machine Screw (M4 x 16, truss head)
Machine Screw (M6 x 12, truss head)

Fig. 8

9. (1) Remove the screws and the Upper Left Cover, as shown in Fig. 9.
(2) Disconnect the Left Winker Coupler.

Machine Screw (M6 x 16, pan-head)

Rear View Mirror

Upper Left Cover
@

S K 4—Machine Screw (M6 x 16, truss head)

Fig. 9

8

—6—



ANTENNA INSTALLATION

1. (1) Fixe the Antenna Stay to the Antenna Base using the hexagonal Nut.
(2) Pass the Antenna Feeder through the Cable Holder and insert it into the pipe located at the end of
the Antenna Stay.
(3) Pass the Antenna feeder through the Antenna Stay hole and take up any slackness it could have.

Nut

Rubber Washer

Collar
Antenna Stay

Antenna Base

Cable Holder

Antenna Feeder

Fig. 1

2. (1) Install the Antenna Stay with the Antenna Base(s) mounted on the lower back of the rear trunk,
using the installation nuts.

Rear Trunk

CB Antenna Base




3. (1) Attach the CB antenna element as shown in Fig. 3.
NOTE: Be sure that it is securely tightened.

Antenna Element

<!
-

[l

Turning the *“B” part counterclockwise, ‘\

i and sliding it upwards, it is possible to
I tilt the Antenna Element.

‘ +

Antenna Stay

—

Fig. 3

4. (1) Fix the Antenna Feeders to the frame of the motorcycle using the clamps, as shown in the diagram.

Radio Antenna Feeder from the Audio Case

i Radio Antenna Feeder
/4
I" f Clamp
© \ Clamp
\\‘/ Clamp
ZZZF Y
&S ENES
P = \Q!l
Ny —~>\\ N
e, \-“Q‘r“““‘l‘-w ~
N g ;
CB Antenns A
o
Fig. 4




MOUNTING THE CB CONTROL UNIT

1. (1) Line up the template with the shape of the interior of the left cowl panel and pocket holes and

attach using tape. (Refer to Fig. 1)
(2) Mark the holes with a punch and make the holes at correct angles.
(3) Be sure not to come in contact with the parts inside the left cowl panel and the gutter during this

operation.

Fix the template in place with tape.

Piace the template on the panel
where installation is desired.

Mark the 4 holes.

Left Cowl Pannel

Fig. 1

2. (1) Fixe the CB controller to the mounting bracket from inside the left cowl paneli, using the flat
washer, spring yoke, and nut.

CB CONTROL UNIT

Left Cow! Pannel

Mounting Bracket CB Controller

2—Flat Washer
2—Spring Washer
2N \c/ '




MOUNTING THE CB TRANSCEIVER

1. (1) Asshown in Fig. 1, attach the CB unit to the brace with the three double-sem bolts.

CB Control Unit

Brace

CB Transceiver Unit

~

y g
Clamper

3—Double sem screw

Fig. 1

— 10—



. CONNECTION DIAGRAM

4 Pin coupler
female connector (white)

4 Pin couptler
fernale connector {white)

5 Pin DIN cord
female connector (black}

CB Transceiver Side

———] - . Handle Switch
male connector (white)

Passenger Switch

] . - 1l (rear remote control unit)
male connector {white)

CB Control Unit

‘ - (CB controller)
male connector (black)

8 Pin DIN cord ‘ - CB Indicator

female connector (black) male connector (black)
8 Pin DIN cord Left Side of Audio Case
male connector (gray) - - male connector {(gray)

Antenna __—_II

- . @: Antenna Feeder

Ground

Power

3 Pin coupler
female connector (white)

Female connector {red/white)

=i=© Held in place by the saime screws as the audio connections

] - . 0 Male connector {white)

‘ . @—_= Noise Suppressor

Fig. 1

-11-




Power 3 Pin coupler
female connector (white)

1. (1) Connect the bundled wires following Fig. 1, and according to Fig. 2. The ground eyelet is fixed

in place at the same place as the audio connections with the vehicle side screws.

8 Pin DIN cord 8 Pin DIN cord
female connector {black) male connector (gray} Audio Case Side
To CB Indicator (display)
CB Transceiver Unit 1. Ground Evyelet
‘ fixed in place at the same place

as the audio connections with

the vehicle side screws
£ I./F.
h CB Control Unit

%

L

1
Handle switch
4 Pin coupler (white)

) I. —
[Tl 1% e=={D
]
] n—
Cll_Ive
Female connector (red/white)
To noise suppressor Passenger switch (rear remote controller)
4 Pin coupler {white}
To CB antenna CB control unit {CB controller)

5 Pin DIN cord (black)

Fig. 2

FUNCTION CHECK

1)

2)

3)

Check all of the connections upon the completion of all installation operations. Be sure that none of
the wires are pinched.

Turn on the ignition switch of the vehicle, and check the functions and operations of the CB unit.

After checking the above, turn off the ignition switch of the vehicle. Follow the installation procedure
in reverse to dismount the unit.

—12 -




GUIDE LINE

285-1212-00




